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Perhaps also that they disqualified them as robbers

Overview

The X713 stated that in the case where the latter 79 disqualified the former 27y, by
declaring them to be 0°1713, there will be a difference whether the reason why 1"y
D091 X177 X271 X272 is because of W17°17 (so in the case of Xn171x where there is no
wn they will be ¥y191n? H001), or whether the reason for 7091 X177 X277 1801 1"V is
because of MMpPY7T R7°09, so by the 7105 of XM1713 where there is also MMP?7 X709,
the rule will still be 091 X7 X279 XN, Our MdOIN reconciles this XMy with a
seemingly contradictory mana.

mooIN anticipates a difficulty:
= 119351 5990 DYDY OINN NNT NINK NINNT (353 97 pa7mo) 9992 NT PI92 199INT XM

And regarding this which the X773 states in 9912 7717 P95, ‘that there was this gift

document upon which two robbers signed -
- 1190y NaDIIN KD NN DIVN NINYWIND ININY 92 N9 29 929

bR 12 K22 21 sought to certify it, because there was no announcement about

these 715130 -
=470 DaAPNT ROV 192WN XYY 301991 Y¥a XD RNIIINT 1917 Pr0n0)

And the X713 there concluded that a 3913 who is n''7% M17v% 7109, does not require
an announcement; and (continues N1901N) we are not concerned for the loss of
the recipient of the gift; so why indeed aren’t we concerned for this X7°05 —

nooIN responds to an anticipated answer:’
- 57319 YapnT NTPOY WIND WYT P10 NINT XPITIND MMPYT X107 2) Yy 9N

! Normally 123913 are M7y 9109, so this 70w should seemingly be invalid.
2 The R»3 there previously stated that all those listed in the 73wn (on 2,73) to be M7y» 9109, they are not disqualified
until there was a public announcement stating that they are disqualified. PX%w 22 5"9 assumed that the same ruling
applies to 11713 The 111277 is necessary since people do not know that they are M2 2109, and may use them, and will
subsequently suffer a loss when their n1mvw will be invalidated (mmp%7 X7°09).
3 The 77109 of the 7awn which require 717377 are (presumably) 72105 only 13277%.
4 Seemingly the same reason that applies to 13377 12109 (see footnote # 2) should apply to Xn»X7 12109, for how are
the people to know that their 0>7v are 0°1713. This will cause (in this case) the f3nn 92pn to lose their minn.
5 Perhaps one can argue that we are only concerned for a mmp>7 X7°05 (where the buyer laid out money), but not for
minnT X7°00 (where the recipient did not pay anything). m»oin negates this answer.
® mpoin assumes that just as we are concerned for mmp? we should be concerned for Mminn as well, as it is known that
a person receives a gift only because he did something for the grantor of the gift.
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Even though that the phrase, ‘we are concerned for mmp»7 87°02’, is not precise,
for the same law applies that we should be concerned for the loss of the »2p»

71InR, so seemingly the 0°1913 should require 711737, and otherwise the 71n» uw should be valid -
= 1NN NYNNY 19009 DIPN YN

Nevertheless, we disqualify that $73n% 20w, even though there was no 7157 -
- 23 HDVYA NNY DN 7P 1523 195 19N 925Y S99

For that is in a case where they already testified in 7''52 regarding these 27V that
they are 1°1713, before they signed on the 7in» ww —

mooin offers another scenario why the 7107 0w was H091:
= $157 17’22 19102 Y1NIY NN 1Y NINN Y0V NONN 5N NI IN

Or it was a case where that 77an» 2uw was never seen, until after the 9105 of the

0°>7Y was known in 7''2 -
- 99599 NYYIIDTI MNP NNAY WINY YW DD NINTT 33 YY N)

So even though it is dated before they were declared 01713 in 7"°2, nevertheless the
oW is 7109, for there is the concern that they predated the “vw, as I explained
previously, but really it was written after they were declared 0°9109 —

mMooIN anticipates a difficulty:
= 9995 1129) Y959 SNNP 9N TNT (x,12 97 0w) 9992 NT P97 1ONTAIY NIND 1719

However, regarding that story in 972 77 P99, where one witness of X»m 12

testified that one murder witness stole in my presence, etc.; why are they 7051 to testify
on the murder, since their 7105 of M1 took place now after they testified to the murder —

mooin replies:
- 124999519 150199 YWY NVIV NMYI) »)91Y

" Once they were testified against in 722 that they are °1713, no 711977 is needed, since everyone knows that a 177 is

m7y2 709. However, concerning the 192100 in the 7awn (like X292 priwn [gambling]), even if it is known that they are

X°21p2 priwn, nevertheless, unless there is a 711377 that they are 2109, people assume that they are still m7v5 w>.

8 Therefore, there is no X709, for when they wrote the 0w, it was already known that they are %1973 (so they should

not have used them for o>7).

2 1%on 11"7 2,2v.

10 xnn 92 was assumed to have killed someone, to which there were witnesses. X»r 12 bought other witnesses who

testified that the 0*7v were D171,

1 xnn 72 wanted to disqualify them because they are °1713, however we just now concluded that (even) by the 9109 of

Mo it only takes effect after they were 091 in 7">3, but their murder testimony happened before they were 5091, so

how could xnr 72 disqualify them?!

12 The concern of mmp>7 X7°05 (which is the reason why 091 X177 82771 1891) is merely a on2n NIPN to protect the

mmpY, but in reality the 0> should be ¥y191? 091 (as the X n3 stated explicitly); this n"pn is only for manan 17,
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Regarding capital cases it is obvious that they are disqualified retroactively, from
the time they stole, but not later when they were 7091 in 7" —

mooIN anticipates an additional difficulty:
—1579¥a0 NYN 9YOND IN ¥1Wa) 2357 12399 17199393 NN 139139105 1813 9N

So, the X3 could have said, ‘there is a difference’ (whether the reason is because
of w17°n, or because of MMIP?7 X7°00) regarding capital cases, or to forbid a woman

to her husband, or -

- TTARN DY 16PUNTP) PO) 1Y
Regarding divorces and marriages and testimony for the new month, and in all
these cases we found out later,'® through mn1, that they were liars prior to the testimonies

mentioned here -
= 205N 99Y ¥991Y PPHDID MMPYT NTIDT RNIYVLDY Y9913 19019 PR VITNT RNDYOLDY

That according to the reason of 217°1, we cannot disqualify the witnesses ¥ya52b,
however according to the reason of mmph7 X705, the 0>7v are ¥y 5n»b 08, for all

these abovementioned testimonies —

mooin replies; the reason he does not mention any of these differences -
$1999 12397 11199392 NIINT SNIDWUND PINTT NIN

It is rather because he is trying hard to find a difference regarding monetary
matters.

Summary
There is no MMpP27 X7°09 by the 7109 of XM1o1, provided that the 9109 in 72 took

place first. The ruling of 827791 1821 is only regarding cases where there can be X7°09
nmpPY7, however in all other matters the rule is 091 X177 v9n°.

Thinking it over

however we cannot allow this 1"pn to cause someone’s death. Therefore, regarding mws1 °1>7 all agree that X7 ¥7917
Soo1. In fact, whenever the issue in question has no mmpP?7 X7°00 consequences, we will say 2091 K177 y1915.
13 Since we are now saying that whenever there is no Mmp?7 RT°05, we say 7091 K17 ¥y1912, we can have many
differences between the two reasons.
4 They are testifying to a murder.
15 They are testifying that she was promiscuous, while she was married, and therefore forbidden to her husband.
16 Either a divorce a marriage took place.
17 They are testifying that they saw the new moon.
18 The mn17 took place on naw 11" for testimony that was given on 17w i1'"9, and on 1703 1" (between the false testimony
and the i117), they testified to one of the above (131 PY1T°P1 7073 ,MWD1).
19 Since 1"V is a WM SO T2°K) WATR NYWA ROX 12 77 PX.
20 Since by rejecting their testimony there is no MMP?2 X7°08. No innocent people are being harmed.
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According to the reason of mmpY7T X7°09, what would be the ruling regarding the
time between their testimony (for which they were om7) and the time of the a1,
where they testified regarding nmw»s1 17 (where there is no MmMpP>7 X7°00) and they
signed ripn >Tww (where there is MMpPY7 X7°09); would we say that their testimony is
accepted regarding money matters (091 X177 82771 1821), but rejected regarding nwoa,
etc. (9091 X7 ¥791°). This would seem like an inherent contradiction (especially if
the mws1 °1°7 case happened before the ripn "W case)?!
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